PUR-1270 Conococheague Treatment Plant ENR Upgrade.

				HRI Bridge Company State College, PA		Wickersham Const. & Eng., Inc. Lancaster, PA	
No.	Item	Unit	Qty.	Unit Price	Total Price	Unit Price	Total Price
1	Construction of Conococheague Treatment Plant ENR Upgrade, complete in place as specified and indicated on the Contract Drawings, except for furnishing the Biomag Equipment.	LS	1	\$23,739,300.00	\$23,739,300.00	\$24,910,012.00	\$24,910,012.00
2	Washington County will purchase the Biomag Equipment as specified in Appendix A (Contractor shall be resonsible for installation)						
3	Washington County will purchase the Ovivo Equipment as specified in Appendix B (Contractor shall be responsible for installation)						
	Total Sum of Base Bid Items 1 through 3			\$23,739,300.00		\$24,910,012.00	
C1	Structure Over Excavation	СҮ	100	\$35.00	\$3,500.00	\$60.00	\$6,000.00
C2	Aggregate (Stone) Backfill	СҮ	75	\$45.00	\$3,375.00	\$65.00	\$4,875.00
C3	Soil Backfill	СҮ	25	\$35.00	\$875.00	\$40.00	\$1,000.00
C4	Electrical Outlets	EA	20	\$300.00	\$6,000.00	\$133.00	\$2,660.00
C5	Concrete Spalling Repair	LB	20	\$300.00	\$6,000.00	\$255.00	\$5,100.00
	Total Contingent Bid (C-1 through C-5)			\$19,750.00		\$19,635.00	
	Total Sum Bid for Base Items Nos. 1 through 3 Plus Contingent Items C-1 through C-5			\$23,759,050.00		\$24,929,647.00	

PUR-1270 Conococheague Treatment Plant ENR Upgrade.

				Conewago Enterprises, Inc. Hanover, PA		Quandel Const. Group, Inc. Harrisburg, PA	
No.	Item	Unit	Qty.	Unit Price	Total Price	Unit Price	Total Price
1	Construction of Conococheague Treatment Plant ENR Upgrade, complete in place as specified and indicated on the Contract Drawings, except for furnishing the Biomag Equipment.	LS	1	\$26,371,000.00	\$26,371,000.00	\$26,640,000.00	\$26,640,000.00
2	Washington County will purchase the Biomag Equipment as specified in Appendix A (Contractor shall be resonsible for installation)						
3	Washington County will purchase the Ovivo Equipment as specified in Appendix B (Contractor shall be responsible for installation)						
	Total Sum of Base Bid Items 1 through 3			\$26,371,000.00		\$26,640,000.00	
C1	Structure Over Excavation	СҮ	100	\$75.00	\$7,500.00	\$11.80	\$1,180.00
C2	Aggregate (Stone) Backfill	СҮ	75	\$50.00	\$3,750.00	\$21.33	\$1,599.75
C3	Soil Backfill	СҮ	25	\$50.00	\$1,250.00	\$36.60	\$915.00
C4	Electrical Outlets	EA	20	\$292.00	\$5,840.00	\$308.50	\$6,170.00
C5	Concrete Spalling Repair	LB	20	\$307.00	\$6,140.00	\$289.25	\$5,785.00
	Total Contingent Bid (C-1 through C-5)			\$24,480.00		\$15,649.75	
	Total Sum Bid for Base Items Nos. 1 th Plus Contingent Items C-1 through	\$26,395,480.00		\$26,655,649.75			

PUR-1270 Conococheague Treatment Plant ENR Upgrade.

		Pact Two, LLC Ringoes, NJ			Adams Robinson Enterprises, Inc. Dayton, OH		
No.	Item	Unit	Qty.	Unit Price	Total Price	Unit Price	Total Price
1	Construction of Conococheague Treatment Plant ENR Upgrade, complete in place as specified and indicated on the Contract Drawings, except for furnishing the Biomag Equipment.	LS	1	\$26,820,000.00	\$26,820,000.00	\$27,361,500.00	\$27,361,500.00
2	Washington County will purchase the Biomag Equipment as specified in Appendix A (Contractor shall be resonsible for installation)						
3	Washington County will purchase the Ovivo Equipment as specified in Appendix B (Contractor shall be responsible for installation)						
	Total Sum of Base Bid Items 1 through 3			\$26,820,000.00		\$27,361,500.00	
C1	Structure Over Excavation	СҮ	100	\$100.00	\$10,000.00	\$75.00	\$7,500.00
C2	Aggregate (Stone) Backfill	СҮ	75	\$50.00	\$3,750.00	\$75.00	\$5,625.00
C3	Soil Backfill	СҮ	25	\$20.00	\$500.00	\$15.00	\$375.00
C4	Electrical Outlets	EA	20	\$200.00	\$4,000.00	\$200.00	\$4,000.00
C5	Concrete Spalling Repair	LB	20	\$200.00	\$4,000.00	\$400.00	\$8,000.00
	Total Contingent Bid (C-1 through C-5)			\$22,250.00		\$25,500.00	
	Total Sum Bid for Base Items Nos. 1 th Plus Contingent Items C-1 through	\$26,842,250.00		\$27,387,000.00			

PUR-1270 Conococheague Treatment Plant ENR Upgrade.

				Triton Const., Inc. St. Albans, WV		Johnston Construction Co. Dover, PA	
No.	Item	Unit	Qty.	Unit Price	Total Price	Unit Price	Total Price
1	Construction of Conococheague Treatment Plant ENR Upgrade, complete in place as specified and indicated on the Contract Drawings, except for furnishing the Biomag Equipment.	LS	1	\$29,623,250.00	\$29,623,250.00	\$31,917,736.00	\$31,917,736.00
2	Washington County will purchase the Biomag Equipment as specified in Appendix A (Contractor shall be resonsible for installation)						
3	Washington County will purchase the Ovivo Equipment as specified in Appendix B (Contractor shall be responsible for installation)						
	Total Sum of Base Bid Items 1 through 3			\$29,623,250.00		\$31,917,736.00	
C1	Structure Over Excavation	CY	100	\$75.00	\$7,500.00	\$20.00	\$2,000.00
C2	Aggregate (Stone) Backfill	СҮ	75	\$150.00	\$11,250.00	\$135.00	\$10,125.00
C3	Soil Backfill	СҮ	25	\$100.00	\$2,500.00	\$55.00	\$1,375.00
C4	Electrical Outlets	EA	20	\$125.00	\$2,500.00	\$245.00	\$4,900.00
C5	Concrete Spalling Repair	LB	20	\$150.00	\$3,000.00	\$272.00	\$5,440.00
	Total Contingent Bid (C-1 through C-5)			\$26,750.00		\$23,840.00	
	Total Sum Bid for Base Items Nos. 1 through 3 Plus Contingent Items C-1 through C-5			\$29,650,000.00		\$31,941,576.00	

PUR-1270 Conococheague Treatment Plant ENR Upgrade.

			Orders Construction Co., Inc St. Albans, WV				
No.	Item	Unit	Qty.	Unit Price	Total Price	Unit Price	Total Price
1	Construction of Conococheague Treatment Plant ENR Upgrade, complete in place as specified and indicated on the Contract Drawings, except for furnishing the Biomag Equipment.	LS	1	\$32,325,000.00	\$32,325,000.00		\$0.00
2	Washington County will purchase the Biomag Equipment as specified in Appendix A (Contractor shall be resonsible for installation)						
3	Washington County will purchase the Ovivo Equipment as specified in Appendix B (Contractor shall be responsible for installation)						
	Total Sum of Base Bid Items 1 through 3			\$32,325,000.00		\$0.00	
C1	Structure Over Excavation	СҮ	100	\$35.00	\$3,500.00		\$0.00
C2	Aggregate (Stone) Backfill	СҮ	75	\$66.00	\$4,950.00		\$0.00
C3	Soil Backfill	СҮ	25	\$26.00	\$650.00		\$0.00
C4	Electrical Outlets	EA	20	\$140.00	\$2,800.00		\$0.00
C5	Concrete Spalling Repair	LB	20	\$181.00	\$3,620.00		\$0.00
	Total Contingent Bid (C-1 through C-5)			\$15,520.00		\$0.00	
	Total Sum Bid for Base Items Nos. 1 through 3 Plus Contingent Items C-1 through C-5			\$32,340,520.00		\$0.00	